RS

PILANTI

OF STEEL

INSTALLATION MANUAL

Planter Rectangle

CPT.12010040

7093 M8 ring

4032 M8 nut

4017 M8x16 bolt

)

7093 M6 ring

4032 M6 nut

o

4017 M6x16 bolt

3

x32

x16

x16

x32

x16

x16

CPT.BS90

0

CPT.WA12040

CPT.WA10040

x4

x2

x2




80

86

* Only models equal or larger than
800x400 require bottom strips.

* Only models equal or larger than
800x400 require bottom strips.




